CEERMEAEREL AT aEX B I —DEETMZEE LRI AR EIMELLRL—F —Fvy—+

EE wa—h | EEE ) wheem | wm PR | S<BI0M |BBEERA|VTLAOH| FNIH | mEH
1 B E=AEHE 75.4% 94.7% 100.0% 89.5% 84.2% 94.7% 84.2% 89.5% 89.5%
2-(1) EMRZTE 84.8% 100.0% 100.0% 83.3% 83.3% 100.0% 83.3% 83.3% 100.0%
2-(2) ¥R BEE 82.1% 80.0% 100.0% 100.0% 60.0% 80.0% 80.0% 80.0% 80.0%
2-(3) BEN -G T TR AT R 72.0% 100.0% 100.0% 100.0% 66.7% 100.0% 100.0% 83.3% 100.0%
2-(4) By 783 76.2% 88.9% 100.0% 100.0% 88.9% 100.0% 88.9% 88.9% 77.8%
2-(5) NMEFHTTIADAVM NEFHZE 72.4% 80.0% 100.0% 100.0% 100.0% 100.0% 100.0% 80.0% 100.0%
3 EXMEBEHEREEFXENFTE) 76.3% 80.0% 80.0% 80.0% 80.0% 100.0% 80.0% 100.0% 100.0%
—FHhH5EEHERESHEREI— — R EhELEHREHET Y- — R SEHERSHEHC I
EEFH(EVE-) SEFH (EUE—) EEFH(EVE-)
1 {EBHEE 1 dAEEs 1 fAEEE
1% vy %
3EREE g 100 BEEE o
Rl (1) s 3 BERE o " 3 Al2 (1) £
# (2R el e o 1) A RN \\\>22§§m
BRESE ) \ RENEE) A R f;ﬁ\;ﬁ? \ &
2-(5) TE&EF 2-(5) NEF | 2-(5) NTE&F
5}5’777?*9"% 2-(2) _*E*'H?E T 7IRIA 2-(2) ¥EFHE Bﬁ’]’??%‘j)‘ 2—(2) _*E*'H%E
VhNEF B UhNET 5 VhNEET %
Fh3 iz % IE Br < % 3) BIE
2-(4) Hhisk (3) aERY - 3) aiEH 2-(4) Hhigk L,
- b ol O 2-(4) Hhig g 4ok G Jrmy .
eSS 2 Ao LR Pa AT 7Y RS PIATAVH
NSRS RIE i FSPVIS 3 XiE
— BB REMSERELRSHERT - —WFILhDBE B R ESHERTEY— —7 NI SEHERESHEBE Y-
LEFH(EVE-) ZEFH(EVE-) LETH(EVE-)
R 1 fagEE 1 e
1 1001;&%“% NS
3 EEME L s ‘ 5 3 EEME "
5 (it 2208 e e 2-(1) #4748 4 it & R 2-(1) o4
TENEE = %5_‘%%\3%%) ; RTIE FEHEE) R IR
2_(5)7 ﬁg%u% N 2_(5) ﬁg%% 2_(5) ﬁé%%
kDR ROERE  gr o 2-(2) HERIE  WITTRAUA 2-(2) HEFI
/Eﬁgg% B YhNET % VhET &
= 32 B
2-a) Hosy/ o) B iR (3) atE PR (7D =
Mt R 7Y 2-(4) thish* - iR e 9 gAY
F=R 2IXY MK IR e PRATIAV TRE FNRIAVE
XiE XiE

= 215

— BN B ER SRR T
2EFH (EV5-)

1 HEEE
A F

3 FERME
- 2-(1) #2548
E#HERE stz

REIEXR)

2-(5) 1T

FRET IR 2-(2) ¥EF

IAV A i& 3
FrX%iE

2-(4) th ) - kTR
TEE PIFIAVE

X i

— Al EnERSEREYY—
EETH(EVE-)

1 HREER
A%

3 HEME i
G e 2-(1) e &5 1d

ENER 7

RESEL
2-(5) TEF
et O 2-(2) 4EFiI1E
Yh ST %
ZESZ (3) aiE
2-(4) o -1’y
o FIRIAY

X



